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According to Easton, Political System consists

a. Input
b. Output
C.

d.

Feedback

All of these
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Who cannot do his best without ‘rights’?

a. Individual

b. Society

C. Community

d. State
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Which ‘organ of government’ has sovereignty in Britain?
a. Parliament

b. Executive

C. Judiciary

d. Constitution
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When was Lok Janshakti Party (LJP) formed?
a. 28 November 2001
b. 28 November 2000
c 29 November 2002
d 30 November 2003
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Who has advocated the idea of ‘partyless’ democracy?
a Mahatma Gandhi

b. Ram Manohar Lohia

c Jay Prakash Narayan

d. None of these
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When was Gandhi’s autobiography firstly published?
a. 1928

b. 1927

C. 1926

d. 1925
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Who has given the concept of ‘General will’?
a. Gandhi

b. Mill

C. Locke

d. Rousseau
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Who has propound the theory of Natural rights?
a. John Locke

b. Hegel
C. Mussolini
d. None of the above
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What is ‘Rights’ according to Laski?

a. Condition

b. Adjustment

C. Intelligence

d. Emotion
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What is role of state in Laski's theory of Rights?
a. Minimal

b. Welfaristic

C. Developmental

d. Both (b) and (c)
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What is essential for development of human personality according to Laski?

a. Rights

b. State

C. Community

d. Religious Institution
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Which among the following is element of state?

a. Government

b. Legislature

C. Executive

d. Judiciary
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What are main elements of state?
a. Sovereighnty

b. Government

C. Fixed Territory

d. All of these
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How is ‘soverignty’ defined?
a. Supreme power

b. Limited power

C. External power

d. Internal power
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What is size of Greek state?
a. Small state

b. Big state

C. Very big state

d. Mini state
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What is present state called?
a. Greek-state

b. State

C. Nation

d. Nation - state
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Who is main actor in International Politics?

a. World Institution

b. UNO

C. Nation state

d. Regional organisation
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What are input-functions?

a. Political Socialization and Recruitment
b. Interest Articulation
C. Interest Aggregation

d. All of these
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What is structure for ‘rule making’?
a. Legislature

b. Executive

C. University

d. Parlour
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What is Structure for ‘rule-implementing’?
a. Executive

b. Judiciary
C. Educational Institution
d. Church
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What is structure for ‘Rule-adjudication’?
a. Pressure group

b. Interest group

C. Political Party

d. Judiciary
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What does connect all elements of ‘Political System’?
a. Environment

b. Pressure

C. Communication

d. Socialization
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Which aspect of 'life’ Laski's definition of Rights deals with?
a. Political life

b. Economic life

C. Social life

d. None of these
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Which institution does legalise ‘right’?
a. Society

b. State

C. Community

d. Church
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Which among the following organ of government is responsible for protection
of rights?

a. Legislature

b. Judiciary

C. Executive

d. Political Party
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How are ‘rights’ and ‘duties’ related to each other according to Laski?
a. Complementary

b. Contradictory

C. both (a) and (b)

d. None of these
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Which type of rights are pre-necessary for enjoyment of ‘political rights’?
a. Civil Rights

b. Cultural Rights

C. Economic Rights

d. All of these
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In which year, The book ‘Grammar of Politics' was published?
a. 1925

b. 1926
C. 1927
d 1924
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What is the nature of ‘Fundamental Rights’ in India?
a. Justiciable

b. Non-Justiciable

C. both (a) and (b)

d. None of these
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What is nature of Indian state presently?
a. Police state

b. Minimal state

C. Welfare state

d. Totalitarian state
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Which institution has Sovereignty?
a. State

b. Village

C. Town

d. Nation-state
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Who has given the concept of ‘Leviathan’ state?
a. Hobbes

b. Locke

C. Rousseau

d. Laski
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Which among the following is unique feature of state?
a. Supreme Power

b. Ligitimacy

C. bothaand b

d. None of these
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What is called the “liberty’, which people enjoy for earning their bread?
a. Economic liberty

b. Political liberty

C. Civil liberty

d. Natural liberty
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Which of the following thinker does describe the positive concept of liberty?

a. Marx

b. Darwin

C. Spencer

d. T.H. Green
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Which among the below is concerned with the notion of equal treatment with
equals and unequal treatment with unequals?

a. Proportional Equality

b. Equality before the law
. Natural equality of men
d. Equality of opportunities
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Which among the following is the greatest supporter of Individual liberty?
a. Rousseau

b. Montesquieu
C. J.S. Mill
d. Green
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Who said that ‘Rights are those conditions of social life without which no man
can seek to be himself at his best’.

a. Laski

b. Mill

C. Hegel

d. Avristotle
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What did Marx borrow from Hegel?
a. Materialistic philosophy

b. Alienation theory

C. The idea of stateless society
d. Dialectical Method
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Who is the author of the book "The Civic Culture' (1963).
a. Almond and Syndey Verba

b. Almond
C. Lucian Pye
d. Easton
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Who has developed ‘structural functional approach’?
a. Almond

b. Powell

C. Almond and Powell

d. Syndey Verba
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In which year, structural functional approach was developed by Almond and
Powell?

a. 1965
b. 1966
C. 1967
d. 1968
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‘Input-Output’ analysis is the part of which approach?
a. System Approach

b. Philosophical Approach

C. Historical Approach

d. None of these
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What is not a function according to Almond?
a. Political Socialization

b. Political Communication

C. Interest Aggregation

d. Political Apathy
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Which approach has pointed defect of Easton's system approach?
a. Traditional approach

b. Historical Approach

C. Communication approach

d. Structural-functional Approach
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Who introduced ‘Feedbak loop mechanism’?
a. Almond

b. Easton

C. Powell

d. Coleman
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Which system has right to use ‘legitimate physical coercion’?
a. Social system

Political System
Economic System
None of these

b.
C.
d.
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How many ‘input functions’ are given by Almond?
a. )

b. 2
C. 3
d. 4
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How many ‘output-functions’ are there according to Almond?
a. 3

b. 2
C. 1
d. 4
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When did the ‘post- behaviouralist’ approach emerge?
a. Mid- Eighties

b. Mid-Sixties

C. Mid-Seventies

d. Mid-Fifties
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Who among the following advocated Post-Behavioural approach for the first
time?

a. Almond

b. David Easton

C. Sartori

d. None of these
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How do ‘structural functional approach’ tries to study the Political system?
a. On the basis of their actual operation

b. On the basis of their structure

C. On the basis of structure as well as their actual operation

d. None of these
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Which among the following did not adopt ‘legal approach’ for the study of

Politics?

a. Herbert Finer

b. Thomas Hobbes
C. A.V. Dicey

d. Jean Bodin
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What is need of Interdisciplinary approach?
a. Interconnection among disciplines

b Strong relations among subjects

C. Need of Scientific study

d. All of these
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How many element does ‘state’ has?
a. 6
b. 7
C. 4
d. 3
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What is not an element of state?
a. Sovereighnty

Population
Territory

b.
C.
d. Legislature
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When did David Easton publish the book 'The Political System™?
a. 1953

b. 1954
C. 1955
d. 1956
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Who is idealist thinker?
a. Hegel

b. Karl Marx

C. Kant

d. both (a) and (c)
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Who is the author of the book 'Critique of Pure Reason'?
a. Kant

b. Hegel
C. Gandhi
d. Gramsi
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Which among the following is the core concept of ‘ldealism’?
a. Material

b. Idea

C. bothaand b

d. None of these
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Which is one of the ideal value?

a. War

b. Peace

C. Violence

d. None of these

STH 9 D9 AT Uh eyl Hou 77
qA Jg

q. EIRS]

¥ B

. T 9 plg TRl

Which ldealogy argue that ‘ideas’ are the only true reality?
a. Idealism

b. Realism

C. Neo-Realism

d. Liberalism
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What is difference between state and government?
a. State is abstract, Government is concrete

b. State is concrete, Government is abstract

C. State is legal, Government is illegal

d. None of these
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Which kind of organisation the state is?
a. Social organisation

b. Political organisation

C. Economic organisation

d. Moral organisation
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Which among, the following language, the word 'state’ is derived
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a. Latin language

b. German language

C. English language

d. None of these
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Which institution have ‘sovereignty’?
a. State

b. Community

C. Society

d. Religious Institution
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Who had played central role in popularizing the use of word 'state'?
a. Aristotle

b. Machiavelli

C. Hobbes

d. Locke
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What is nature of American State presently?
a. Liberal

b. Social

C. Welfare

d. Neo-Liberal
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What is function of Police state?
a. Maintenance of Law and Order
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b. Provide education to its citizen

C. Provide health services to its citizen

d. Provide housing facilities to its
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In which century does 'system approach’ begin in Political Science'?
a. Twentieth

b. Nineteenth
C.
d.

Eighteenth

Sixteenth
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Which country did initiate the ‘system approach’ to study policial science?
a. USA

b. UK

C. China

d. India
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Which element does provide ‘uniqueness’ to political system?
a. Civil Society

b. Size

C. Population

d. Legitimacy
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In which form ‘input' enters in political system?

a. Demand

b. Support
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C. Laws
d. both (a) and (b)
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According to Almond, the function of family is
a. Political Socialization

b. Growth

C. Employment

d. None of these
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What are 'policies' in political system?

a. Input

b. Output

C. Feedback

d. Communication
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How many types of demand are categorized by David Easton?
a. Four

b. Five

C. Six

d. Two
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Which one of the following is ‘output’ function?
a. Rule-making

b. Rule-application

C. Rule-Adjudication
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d. All of these
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In which branch of Political Science ‘structural-functional analysis’ is used
widely?

a. Internationl Relation

b. Comparatiove Politics

C. Political Theory

d. None of these
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When did the political system approach get fame in studying Political Science?
a. After WW |

b. After WW 11
C. After Cold war
d. None of these
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Where was Karl Marx born?

a. France

b. Russia

C. Germany

d. Italy
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What is function of welfare state?
a. To facilitate education

b. To facilitate health service
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C. To facilitate housing

d. All of these
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What is nature of Modern state?
a. Narrow

b. Comprehensive

C. Welfaristic

d. both b and ¢
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Who defines states as 'necessary evil'?
a. Classical liberal

b. Socialist

C. Anarchist

d. Idealist
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What is core concept of ‘Liberalism’?
a. Equality

b. Liberty

C. Justice

d. Morality
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Whose liberty do 'liberal’ thinkers talk about?
a. Society

b. Nation-state

C. Individual
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d. Community
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What is complementary to freedom?
a. Morality

b. Honesty

C. Sincerely

d. Equality
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What is basic principle of ‘Politics’ according to Earnest Barker?
a Liberty

b. Equality

c Justice

d State
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Who is author of the book 'On Liberty"?
a. Laski

b. Avristotle

C. J.S. Mill

d. James Mill
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How many aspects of liberty are there?
a. 2

= B~ W

b.
C.
d
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What do you mean by ‘Negative Liberty’?
a. Absence of Restraints

b, Imposition of Restraints

C. bothaand b

d. None of these
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What do we mean by ‘Positive liberty’?

a. Imposition of Reasonable Restraints
b. Absence of Restraints

C. bothaand b

d. None of these

JHRIHD Tad=IdT T MY 7T FHST 87
F. Sftua ufdese &1 g
q. gfiael &1 IITg

9. SHiIAART

T 3 A BIg e

What is focus of ‘economic liberty’?
a. Education

b. Philosophy

C. Employment

d. None of these
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Which one of the following is not a political liberty?
a. Freedom to vote

b. Freedom to elect

C. Freedom to critize government policies

d.

Freedom to settle down
frforlRaa o 9 B9 9T U Ioifad Sadr Ts) 27
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Which one of the following is advocate of ‘proportionate equality’?
a. Plato

b. Marx

C. Avristotle

d. Engels

fFrafeiRad % 9 19 “aruTfae FHEEAT BT Ad 27?
e
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X
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Which of the following statement is correct?

a. Liberty and Equality are opposed to each other

b Liberty and laws are opposed to each other

C. Libertuy and Equality are complementary to each other
d. Liberty and justice are contrary

FrfoRad § & @19 A1 ared |8l §°

. |l IR FHMT Uh—gaN & [aRE 2

9. WdAd IR B Th g B faREN €
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What type of ‘liberty’ a man enjoys as a member of civil society?
a. Natural liberty

b. Civil Liberty

C. Political Liberty

d. Economic Liberty

ANREG TS H U A [ JdR &1 W=l I ITART HRAT 57
S M| CARCRCR P
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. oHifde o]

T offde wdHar

Who is called the "father of Liberalism"?

Aoy

Ao g

a. Paul Janet

b. Hitler

C. Harold Laski
d. John Lock

‘IeRAre &1 fUdr fed wer odr 27
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98.  What is the keynote of ‘Liberalim’?

a. Equality

b. Liberty

C. Justice

d. None of these

JERATE BT Des [d7g FIT &7
. HHMEC
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99.  Who among the following held the view that liberty and equality are opposed
to each other?

a. J.S. Mill
b Lord Hewart
C. De Tocqueville
d. Lord Action
ffoRed # 9 @9 Wa=dT IR FHHdT & U6 g &I faRE Aar 872
A olud
g, oS gare
9. QI craardel
T oS TRH
100. What is the meaning of the word ‘Alienation’?
a. To feel isolated
b. To feel united
C. To feel powerful

d. All of these
ST 6T T 37 272
3. B AT HEH Bl

q. Uhdl HELH B
q. fRTeel HEd B
T Sudad 9l
101. “Alination’ signifies -
a. Powerfulness
b. Powerlessness
C. Pride
d. Bravery
S IR A M © |

. wIfdeiierdn
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q. HIESERGI

9. uHS

T g8Igy

Who is the author of the book 'One Dimensional man'?
a. Herbert Marcuse

b. Robert Dahl

C. Talcatt Parson

d. Hannah Aredt

T STSHREA A AHS JRID B oiGd DI 7
3. gdC ARAH
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When was the book '‘One dimensional man' published?
a. 1960

b. 1962

C. 1961

d. 1964

T STSHRMA ' AHS JKIH hd UHIRId gs A1?
3. 1960

q. 1962

. 1961

<. 1964

In which of the following society does ‘alienation’ prevail?
a. Traditional society

b. Medieval society

C. Greek society

d. Modern capitalist society

frfoaRad § & @19 & TS § STl urar ST 87
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Which political ideaology has discussed the concept of ‘Alienation’ in relation
to production?

a. Liberalism

b. Idealism

C. Marxism

d. Neo-Liberalism

frg oI TAaRYRT A JISTT BT STALRT Bl IATGE B AT SISl 27
< AR o4 e | =
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Q. BERSHECIH
106. What do we mean by ‘freedom'?

a. Emotion
b. Wisdom
C. Intimacy
d. Liberty
TSR T FT A &7
3. AT
9 gfg
. =irssarn
. Xqd=dl
107. Whose autobiography is 'Long walk to Freedom'?
a. Nelson Mandela

b. Mahatma Gandhi
C. Adolf Hitler

d. Graham Wallace
AN dfd T WieH' fhdaT eThar 87
F. AT "ol

g HEAT A
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108. What is the slogan of ‘French’ Revolution?
a. Liberty, Trust, Love
b. Liberty, Equality, Morality
C. Liberty, Equality, Fraternity
d. Liberty, Justice, Idea
IR ShTf=T BT ART RAT &7
q. T, FATT, A
9. AT, FHIAT, HTgcd
= AT, 1Y, f[d9R

109. What is full form of FICCI?

a. Federation of Indian Chair of Commerce

b. Federation of Indian Chambers of Commerce and Industry
C. both (a) and (b)

d. None of these

el BT qRT A9 R 57
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. QTR g

T SWRIEd H 9 PIs A8
Lobbing is related with

a. Political Party

b. Higher Education

C. Pressure group

d All of these

AT q IS g8 ¢
. IorIfdd g1l
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9. <919 998
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Upon whom does ‘pressure group’ try to exert power to promote the interests
of their members?

a. Executive
b. Judiciary
C. Legislative

d. All the above
S99 W8 31U 9wl & f2dl Bl 9 @ oy {6 UdR 99d STeld 5 °
3. BRI

q. RIREIRED
g fauRer
T SURTT

Which of the following is not a method used by the pressure group for
achieving its objectives?

a. It finances political parties

b. It organises demonstrations.

C. It clearly aligns with a political pressure
d. It tries to influence policy makers.

S99 9T 3107 Seed & gfd & foy fovw fafdr &1 wamr =81 o= €7
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Which one of the following was the first country-wide pressure group of the
organized Indian working class?

a. All India Trade Union Congress

b. Indian National Trade Union Congress

C. United Trade Union Congress

d. Hindu Mazdoor Sabha

fFferRad # 9 @19 |1 <Ml ygelr Ffod R Holgr de’ 87
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What are different 'types' of Pressure groups?
a. Institutional

b. Associational

C. Non-Associational

d. All of these

%919 Hqg P A~ gpR @1 87
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What is full form of ABVP?

a. Akhil Bharatiya Vidyarthi Parishad
b. Akhil Bharat Vishwa Parishad

C. both (a) and (b)

d. None of these

THRAD & R® AH TR

3. IRgd wRa faemeff uRvg

q. 3RgeT MRa fawg gRvg

d. aAradiRg

T TH A PIE TR
ABVP is a organization.
a. Student's

b. Teacher's

C. Worker's

d. Former's

THANG. Th .o e 2 |
a1 faenfeai @

SR N ca o)

| oGl Bl

T feamr &1

When was AIKS formed?

a. 1934

b. 1932

C. 1936

d. 1931

Q.37TS.%.Q¥. BT TS dd Tall?
3. 1934
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q. 1932

9. 1936

T. 1931

By whom AIKS is related?

a. Farmer

b. Labour

C. Teacher

d. Doctor

U3, .04. fhad awfug gwer 87
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q. HOTGR
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‘Narmada Bachao Andolan’ is related with
a. Environment

b. State

C. Society

d. None of the abover

THET I8N ST HEfRId a—
3. TIfAROT
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Who firstly began 'system' approach in Political Science?

a. Shumpeter
b. Robert Dahl
C. David Easton

d. All of these
IS IS # ‘e SUNTH’ @ HalTd b @l?

o gHeR

q. Slgcl

a4 Sfae dweq

T SR a4l

What is main feature of neo-liberal state?
a. Nightwatchman state

b. Comprehensive

C. Welfarlistic

d. Developmental

TI—IERATGT (Y DI FIT THE (IR &7
S E S R
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d. HABRI
= faprar®
122.  Who is exponent of Negative Liberalism?
a. J.S. Mill
b. Adam Smith
C. LaskKi
d. Locke
TPRIHD IERATE & U0 BT 872
. O wa e
q. TeH Ay
q. A
< ~IEY
123. What is function of state according to ‘classical liberals’?
a. Minimal
b. Welfare
C. Developmental
d. All of these
URFRTATE] SERATEAT & IFAR I Bl i Hdl 27
3. JATH oY
q. HATTHRI I
g AerseEs
T SWIG 9
124. Who is father of ‘idealism’?
a. Plato
b. Avristotle
C. Socrates
d. Rousseau
Jeeiare & fodr &9 27
I el
q. IR
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125. What is nature of state according to idealism?
a. both (c) and (d)

b. only (c)
C. Divine
d. Organic

RIS I Ui Meeiaredl & JJaR Hul 57
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T AEade

What is true character of ‘reality’ according to ldealists?
a. Physical

b. Mental

C. Material

d. Emotional

JMeEialedl & IR IRAAdhdT BT Fe! ARy JaT 87
A INIRD

9. HENSD

9. HIfd®

E NENIRED

From which ideaology, Gandhi, Hegal, Kant belong -
a. Idealism

b. Socialism

C. Marxism

d. Communism

T7ef, T, Pive fhg faaReRT & 27
< G | r=t{ 1 4
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What is primary to ‘idealist’?

a. Mind

b Money

C. Matter

d None of the above

arreetarfet &1 e @ 87
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What is politics according to idealists?
a. Power seeking activity

b. Service oriented activity
C. both (a) and (b)
d None of these
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What is function of state according to ‘Modern Liberals’?
a. Minimal

b. Welfarlistic

C. Development

d. both (b) and (c)

Y ISRATMSAT B FTAR I BT T BRI &7

A gATH
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What is nature of Welfare state?
a. Narrow

b Limited

C. Parochial

d Comprehensive

What is primary aim of government in welfaristic state?
a. well being of people

b. well being of state

C. well being of government

d. None of these

HEATTHRN] 5T H TRBR BT TII A6 FIT 82

A AN BT YIS
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The welfare starte is essentially a synthesis of -
a. Liberalism and Idealism

b. Liberalism and socialim

C. Liberalism and moralism

d. Classical and Modern Liberalism

HATDHRI T AT FIITUT 5—

. SERATG AR IAEIAR

q. SeRATE 3R FHSIATG

¥, SeRdIE 3R ATRIde

T WRERMEME] AR AEAE ISRATE

What is core concept of socialism?
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a. Liberty
b. Morality
C. Equality
d. None of these
FATSATE B el TRV T &7
3. AT
g Afdearn
3. HTT
T T PR TR
135.  What is aim of ‘communist state’?
a. State less society
b. Classless society
C. Egalitarian society

d. All of these
GIRIGTST I BT eI T 272

3. TAAE FAS
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136. Who among the following is a socialist thinker?
a. J.S. Mill
b Laski
C. Karl Marx
d Hobbes
fr=faRad & 9 @9 F9oEd fode 87
. iud. fAd
g ATEDT
dq. Pl 7N
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137. 'Who among the following is not a socialist thinker?
a. Karl Marx
b. Fredruck Engel
C. Robert Owen
d. Harold laski
fr=ferRad & 9 @19 ve gaTSae] foeae A8 27
3. Pl AR
q. heRd Toied
. VEe e
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138. Which article of Indian consitution deals with 'the safety of life and personal
liberty'?
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a. Article 21
b. Article 22
C. Article 23
d Article 24

YR WAL BT HIF—HT TG Sad Bl GRET AR AfdTa Faa—=l &l
EREINI:T

. e 21
g g 22
| Iwe 23
T s 34

Which part of constitution mentioned ‘fundamental Rights’?
a. Part IV

b. Part VI
C. Part 111
d. Part 11

A & foe 9RT # o e RI &1 @ a7 87
3. T e

9. HIT BT
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Harold Laski is a thinker.
a Social

b Community

c Liberal

d Idealists

TS ARDT e frar® 2|
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Which among the following ‘article’ does discuss right against human
trafficking in Indian Constitution?

a. Article 23
b. Article 24
C. Article 21
d. Article 22

FefeRad 4 A @9 A1 e A TN & RIATh PR WRd™
A # Sifra wear 87

3. IJTE 23

9. 3PS 24

d. IAJesE 21
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q el 22
142. Right to education is given under
a. Acrticle 21A
b. Article 22A
C. Acrticle 21B
d. Article 21C

et BT TP .. H fear T 2
3. IgEE 21 3
q. 3PS 22 I
q. IgwE 219
3. IWE 219
143. How many freedoms are guaranted in ‘Article 19°?
a. Six
b. Seven
C. Four
d. Five
AT 19' H fhad UbR & We=ar af T &7
3. :
q. A1d
. IR
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144. Right to property is a right.
a. Civil
b. Economic
C. Political
d. legal
THRT BT FRPR ... IHR 2 |
3. ANR®
g onfii®
| orfas
T Jufe
145.  In which form of government, the rulers are elected by ‘people’?
a. Monarchy
b. Democracy
C. Oligarchy
d. None of these
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The word ‘democracy’ comes from the greek work
a. Deme

b. Demakratia
C. Demos
d. Kartia

Alha s e Bl IRl YTb AT & e ... d g o7
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Which of the following is a democratic country?

a. Norway

b. India

C. USA

d. All of these

frfoRad § & @19 491 <9 dlbar=ia g7
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How many ‘organs of government’ are there in democratic system?
a two

b three

C. one

d. four

ABATD AT FIRAT H IRBR & fhad T B 8°
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Which is the modern approach to study Political Science?
a. Behavioural Approach

b. Input - Outpur Analysis

C. Structural- functional Analysis

d. All of these

RISHIRT fA™ @ STeud9 &1 ST SUNTH &7 &7
3. YIERIHSD 3NTH
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What is not the main focus of traditional approach?
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a. Tradition
b. Objective
C. Moral
d. Ideas

URURTATE] ANTH BT 3 b5 9T 8l 27

1531

151. What is central idea of Modern approach?
a. Scientific study
b. Historical study
C. Philosophical study

d. None of these

MY IR & S IR R &7
. JSIHH eI

g,  vfaerfie sreuae
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152.  Which among the following is traditional approach to study Political Science?
a. System - Approach
b. Power Approach
C. Structural Functional Approach
d. Institutional Studies
fFefeiRad # | @9 1 Ue oG A9 & 3fegae BT IRIAORETG SUNH
g?
3. AT SUTH
g vfdd SUNTH
. IRAATHG—T BT HD SUTTH
T RITId SUNTH
153. What is focus of philosophical approach?

a. History

b. Institution

C. Concept & Ideas

d. Constitution

gTei{~Ih SURTH & B § ol 87
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154.  What is mainly studied through Legal approach?
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a. Laws

b. Constitution

C. Judicial Commentaries

d. All of these

JeT+d SUNTH §RT fh¥eT HRId: eI il o7
3. PIYA
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How does Historical approach to study Political Science analysis the world?
a. Through historical events

b. Through present politics
C. Through Future analysis
d. None of these

oI fasm &1 UfeTRie SurTH favd geRil &1 & fagelyor Rar 87
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How many intellectual foundations of Behaviouralism are given by David
Easton?

a. Six

b. Seven

C. Eight

d. Nine

sfds $%T 7 FaeRae & fhdd difgd MR Iday |
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Which among the following is a modern approach?
a. System approach

b Legal approach

C. Institutional approach

d Historical approach

Who is Behaviouralist?
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a. David Easton

b. Robert Dahl

C. Charles E Marrium
d. All the above
FIERATST I 87

J. Sfds s

g,  4c SEd

. dred 9RkI|

T SWIGd a4

159. Which one of the following writer did not adopt historical approach for the
study of politics?

a. Paul Janet
b. Avristotle
C. T.H. Green
d. Garner
frafaRed & 9 & 91 o@® oI © I H UfsTRie SUnTH B
TRINT &l Pxal 87
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160. What is important idea of Gandhism?
a. Truth
b. Non-violence
C. Violence
d. bothaandb
Ttears @1 v fdaR @ar 87
3. ag
q. T
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161. Which 'category’ is central of analysis in Marxism?
a. Gender
b. Class
C. Caste
d. Community
qTRIare § Bi AT ol faveisor &1 o 87
ar. fom
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According to Marxist, what type of institution, the state is?

a. Organic

b. Welfare

C. Artificial

d. Natural

AIRIAedl & AR, I fd UBR &I |l 87
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Among how many classes, the society is divided always according to Marx?
a. One

b Two

c Three

d Four

AR & STTAR, FHIGT BHT fobe AT H deT garm 27
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Who is ruling class in capitalist society according Marxian idealogy?
a. Bourgeoisie

b. Proletariat

C. bothaand b

d. only b

ATRIaTG! [IaRERT & AR, Yolufd FAGT | BT B aTell aF B &7
A g9ar
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9. SHidRd
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Who is working class in capitalist society according to Marxism?
a. Proletariat

b. Bourgeoisie
C. both (a) and (b)
d. None of these

HRAATS! fIaRERT & AR, Yoiafd §H1ST H HoTgR avf

A FIERNT

CANCS )|
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Which among the following concept is central in Marxism?
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a Equality

b Liberty

c Alienation

d. State

T8 O DI TR ATRIAIE BT dg 27
a.

b.

C.

d.

11

Which system socialism does want to eleminate?

a. Capitalism

b. Egalitarian society

C. Idealism

d. Communism

FHToTaTG fhd SraRe dl AT H_AT dT8dl 27
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In which type of ‘equality’ does socialist state believe?

a. Political Equality

b. Economic Equality

C. Legal Equality

d. None of these
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SN IV E IR EIE ]

g e |EEar

|, duTHe FHdr

T. SR | & Pl ol

Who does control ‘'means of production’ in socialist state?
a. Public sector

b. Private sector
. Public-private - patnership
d. None of these

FHTSTATET MY H '[SATEd & ARl TR i =507 9T 87
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Sovereignty is the feature of which of the following?

a. Pressure group
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b. State
C. Political Party
d. Interest group
Al feforRed @ & feaa! faivar &7
. <99 I
q. Y
g YoHifde g
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171.  Which type of concept the sovereignity is?
a. Legal
b. Political
C. Economic
d. Social
AT {5 JHR @ aeRon 272
. dU®
CARNICE 2
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T aEITe
172. 'Who defined sovereignity as 'the absolute and perpetual of commanding in a
state?
a. Jean Bodin
b. Austin
C. Hegal
d. Hobbes
P YT & I5g & FEUl JoT WTead A @ Sfe¥ b wU H uR¢Iid
faar?
A S 9rET
g efRed
| g
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173.  Who is the greatest exponent of monistic theory of Sovereignity?
a. Bodin
b. Hobbes
C. Hegel
d. Austin
YT Bl Agd g fod ufquifed fear?
S I A
q. Bl
| g
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174. What is not a main feature of Sovereignity?
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a. Permanance
b. Comprehensive
C. Indivisibility
d. Diversity
AT @ Y faeiwdr @ 872
SR 1 G
q. Il
g 3Ifaursy
T fafdean
175.  What is unique feature of Sovereignty?
a. Legitimacy
b. Political
C. Economic
d. Moral Power
e a1 fadre faemar @ 27
. dudr
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176. What is essential feature of sovereignty?
a. Absoluteness
b. Permanance

C. Indivisibility
d. All of these
ARAT @ STfard faRyar i 27
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177. What is main thurst of rule of law?

a. Government should be arbitary

b. Government should not be arbitary
C. Neither a nor b

d. None of above

B BT AT BT 9IR fhd R 87
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178. What does ‘Rule of law’ stand for?
a. Equality before the law
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b. Equality before the state
C. Equality before the Government
d. Equality before the people
BT BT AH BT T AT 272
A BHEA D FHE A
g ST D FHET FHET
. WROR & aGHE Al
T Al & GHe A
179. What do you mean by Jurisprudence?

a. knowledge of sciencer
b. knowledge of society
C. knowledge of law
d. knowledge of country
faferemes | ey @ eI 27
S CEISECIRE G|
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180. What are two types of laws?

a. Prescriptive
b. Descriptive
C. bothaand b

d. only a
HTA & DI A aT TR 87
. s
q. quiTH®
g FAIMR T
T. R
181. What is nature of natural law?
a. Normative

b Empirical
C. Scientific
d None of these
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a. s
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182. Which one of the following is not the meaning of 'Rule of law' according to
A.V. Dicey?

a. Supremacy of law
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b. Equality before law
C. Pre-dominance of legal spirit
d. Wide discretionary power
ST & IR 394 A B9 A1 Ua Ay &1 e @1 oref qEl 27
A HIA FareEdT
q. B & AADET FHAT]
| duiee |iE BT
T ggd wWiddery wfdd
183. Which legal system was critized by Diecy?

a. English legal system
b. French legal system
C. Australian legal system
d. American legal system

SRR & gRT BIF A FaRAT BT ATATAT Pl TAT?
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184. In which country, the ‘rule of law’ first adopted?
a. America
Britain
Switzerland

b.
C.
d. India
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185. Which ‘organ of government’ does make law in democracy?

a. Executive
b. Legislature
C. Judiciary
d. Political Parties
AT | BT IRDR & (HA T gRT I AT 27
A HrIUTeTR
g fqurfer
R I TGl
T NIoHlfde g
186. Which one of the following is essential for enjoyment of ‘liberty’ in society?
a. Equality

b. Justice
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C. State
d. Community
A= B SUHRT & oI et oS # BHT Jaedd &7
3. HHTAAT
q. R
. Y
<. Yoy
187. Which two concepts are interrelated?
a. Liberty and Liberalism

Equality and Egalitarianism
Liberty and Equality
Ideas and Idealism

b.
C.
d.
DI Al QT ARG AMTH A JST g8 27
3.
q,
4.
ES

A=l iR SaRATE
THAMAT IR AT
T 3R AT

SIENIC IR ERIGICA
188. Which organisation is considered ‘super-structure’ in Marxist writing?
a. Government

b. Family

C. Religion

d. All of these

AR & o= H RRGAAT & <A DI | TS 3MMd 87
3.

dq.

N

<Q.

*41

SR 4T
189. 'The Communist manifesto' was written by
a. Fridrich Engels
b. Karl Marx
. bothaand b

d. Only b
T HRIFE HImEE! AMe JRad fordl T 28—
A HSRP Wi
g Plel A
W SFiARRT
T Dadq
190. When was 'the communist manifesto published"?
a. 1849
b. 1848

C. 1850
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d. 1845
T RIS HABIE Bd GHIRIT 57
3. 1849
q. 1848
9. 1850
Q. 1845
191.  Which among the following ideology is Marxism against?
a. Marxism
b. Socialism
C. Capitalism
d. Communism

Aregarer fFeifed § 9 fha faryRT & el 87

ATRIdTS

REICEI
I

Jqreydrg

A4 a4

192. According to Karl Marx, the present state will
a. Continue for long
Will wither away
Deliver goods

b.
C.
d. Deliver services

Bl AR 6 ATAR, TIAT [ ...
3.

q.

|

<.

TR TEY dPb IR
AT &1 STRAT]
THIE UG dRAI
HAR Y& BT |
193. According to Marxism, which type of organisation the ‘state’ is?
a. Development
b. Natural
C. Protective

d. Exploitative
ATRAATE & AR I b YHR BT HST 8°

3. faerare
g Urhpide
d. REUIBRI
T YNUHRI
194. Karl Marx is
a. Socialistic thinker

b Liberal thinker
C. Capitalistic thinker
d None of the above
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Pt TR 2
at. qHoTarel fdaR®
q. SERCICIRCEINGE
| golardl faare
T T A PIE TE
195. Who has used the term ‘Harizan’?
a. Gandhi
b. Marx
C. Engels
d. Gramsci
SRS o8 &1 YT foaer fobar 87
151
q.
g oo™
<. DG

196. Who has given this definition - Democracy is a government of the people, by
the people and for the people.
a. Abraham Lincoln
b. Winston Churchill
C. George Washington
d. John Sheart Mill
Ig gRYT fhaw &1 — olipda SdT &, S=dl & folv 3R S9dT g§RT I
8°?
. ey foied
g s afda
|, Sl arriiTed
T M e A

197. Which is the largest democratic country in the world?

a. USA
b. China
C. India
d. Britain
ST # e 991 ‘AGdifad: S DI AT 87
. IMR®T
CRECIC |
. GING]
T facH
198. What is "Voting age' in India?
a. 18
b. 19

C. 21
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d. 17

YR H HAGH SH R®IT 87

3. 18

q. 19

9. 21

Q. 17

What are the two types of democracy in world?
a. Direct

b. Indirect

C. both (a) and (b)

d. None of these

SFFRIT H QT UBR & Ahdd bld—did A 87
3. gcgeT

q. IUeT

d. 3F 3R g g

T 3N B

What is the feature of ‘democratic government?
a. Accountability

b. Legitimacy

C. Free and fair election

d. All of these

ATBIh TRBR b T fI2Ndr 87

A IRaIE (SEraea))

g qgdr
| Wad SR 3 gAE
T SWRIad 94l

Which among the following is not a feature of modern democracy?
a. Fair election

b. Universal Franchise

C. Constitution

d. limited franchise

Prifted # § B SMEfe s &) R e 27
. S g

g, Ad¥ifie "deH

g, fdu™

T IAd AdeH

Where was 'direct democracy' famous?
a. Greece

b. America

C. Britain

d. Canada
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Uhe lihdd Pal UIg 217

. U™
g, 3MRa®T
| faed
<. HTST
203. What are required factors for smooth functioning of democracy?
a. Free and fair election

b. Free press

C. Independant Judicary

d. All of these

TG W Alhdd DI do-l & foU I FT oTwd 3T 27
<

q.

9.

<Q.

CNECESICRIRCEIC

qad U4
A Tl elhT
SENERICH
204. What are common problems in South Asian democracies?
a. Poverty
b. Illiteracy
C. Lack of Econiomic growth
d. All of these
Sf&oT TR dldbd=il § A SN &7 27
A INIE
g ReRen
| omi¥e gig @ A
T SWREd |4l
205. What is present form of Indian democracy?
a. Direct Democracy
b. Representative Democracy
C. Monarchy
d. None of these
TR ATBAH BT qAH oy RT 27
A gII Ahad
g g areda
g, oad

T. SR | & Pl ol
206. From which Latin word, the word soverign is derived?
a. Supreme
b. Superanus
C. Super
d. None of these

Afe 99 & b s A AR wred &1 IART g8 7
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A U
g gREYg
q4 9w
T T PR TR
207. How many aspect of soverignty are there?
a. External
b. Internal
C. both (a) and (b)
d. None of these
AT & e mam 272
. 9rEgd
g, S3<IR®
| aFl (@) 8k @)
T T A PR
208. 'Who has developed monistic theory of sovereignty?
a. Bodin
b. Laski
C. Austin
d. Hegel
YT BT fgddia Rigr< &l b f[aaia fhar?
S|
g b
| eied
CAE D
209. Who has developed external aspect of sovereignty?
a. Hegel
b. Grotius
C. Hobbes
d. None of these
YT BT argd A fhaq famfid fhar?
A BRI
g ufeaw
9. gy
T TH W PSR

210. Which of the following is an essential characteristic of sovereignty?
a. Higher Education
b. Civil liberties
C. Wealth
d. Indivisibility
AT & SffTard faRiydT 399 & SH—<1 27
A I e
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q. ANTR® A=Y
9. &g
AR G0 S
211. Who believed that sovereignty vested in ‘general will'?
a. Plato
bl.  Aristotle
C. Hobbes
d. Rousseau
e I8 fdvar & 6 Augar |ar= geoT d [Mfled &7
A Wil
q. IR
g, gy
T wdl
212. Who is associated with legal theory of sovereignty?
a. John Austin
b. Lask
C. Maciver
d. Rousseau
AYAT & daT+e G | B ST 87
3. S R
g9 ARDl
. HER®R
T I«
213.  Who has coined the term 'Sovereignty'?
a. Jean Bodin

b. John Austin
C. G.D.H. Cole

d. Lask

FYAT e fhad EIolT?
3. OfF dIer

q. GNIRRS IS

| SISIuE g

= AT

214. Which of the following kind of soverignty is related to the people where
‘public’ is regarded as supreme?
a. De-facto
b. De-jure
C. Popular Sovereignty
d. Legal Sovereignity
fFrforRad % 9 DI A FRAT ‘@R BT FaH ATHAaR A &7
3. DI G
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§. drdd FE

9. iU AR

T QYR Y

Who has firstly propounded the pluralistic theory of sovereignty?
a. Laski

b. Maclver

C. Bodin

d. Otto Van Gierke

AT & ggeraral NG bl Fauerd e gl faar?
3. ARDI

q. EEGARGR
g, dar
T e = e

Which one of the following is a basic feature of pluralist concept of sovereign?
a. Absoluteness

b. Inalienability

C. Divisibility

d. Exclusiveness

AUAT BT dgeldTal JTURUIT &l Yg [IeIver s & &7 &7
A Yo

g foeydr

| fawrsyar

Q. SRR

Who is author of the book ‘Grammar of Politics'?

a. Rousseau

b. Locke

C. Harald laski

d. Lasswell

YR 3T Tifeifcay’ e Qi Bl AT fha a1?
A wdAl

g di®

. oS ARGl

T dNdd

Who has criticised monistic notionof sovereignty?
a. Hobbes

b. Locke

C. Rousseau

d. Laski

AYYT BT Agadial Rigr o1 fbd 3refre B1?
3. EEL

dq. ol
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a0 s
T TEp
219. Who is the author of the book 'The modern state (1926)'?
a. Harold Laski
b. Schumpeter
C. Lasswell
d. Robert M. Maclver
q ArST e (1926) MG YD e fordl 87

A Rfce dARDI
g g
. dNdd
T Y9C TH. HPRAR
220. How many aspects of sovereignty are there
a. 2
b. 3
C. 4
d. 1
AT & e mam 272
3. 2
q. 3
9. 4
Q. 1
221. Where does legal sovereignity reside?
a. Supreme law
b. Custom
C. Culture
d. Tradition
Jenfes Fwngar fead ke 22
3. wdred B
q. R
| Efd
Q. ORERT

222. Where does Political Sovereignty reside?
a. Will of Minister
b. Will of state
C. Will of government
d. Will of people
RIS FRdT fhesd fHfed 27
. HBE @ gEeT |
g T D ST A
g, WOR B 5T A
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T AN @ T 9
223.  Who is the author of the book 'The web of government' 1947?

a. Laski
b. Maclver
C. Wallace
d. Easton
QT 99 3Ah TIRAT, 1947 D J&ID b Gd DI 7
. AR
. HeRER
g, 9o
= ERishl
224. According to Pluralists, one of the important limitations on sovereignty is -
a. Written Constitution
b. Independent Judiciary
C. Political Parties
d. International Law

JgAaIedl & FTAR TUAT W FIH 91 W1 a1 272
& forfga wfdem
CANR CRERSIDEIICEa)

dq. oHIdd g
T RIS B

225. What is not a source of law?
a. Custom
b. Religion
C. Judicial Commentaries
d. Assumption
HTA BT 9T B 8] 87
3. Afa—Ra
q. e
¥, e feufort
T. IR

226. What is source of Law?
a. Constitution
b. Educational Institutions
C. Non-Governmental Organiations
d. None of these
HTA & U@ S a7 2°
. Ay
g, eIfore eI
q. IR R
T 3TH 9 PIE TR
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227. 'Who is the author of the book 'Introduction to the study of the law of the
constitution (1885).

a Bodin
b. Lasswell
c Tocquilli
d Diecy
Jg foame fead foadl — sl T T Tl dup i dfN % ©
ERSESURES
A el
g SISER]
9. craggel
CHEERSIE G|
228. Which institution does enforce law?
a. State
b Society
C. Community
d Association
B DI A G fharfad S 87
3 NIy
q HHTST
9. 9gcd
g g
229. Who has developed concept of 'Rule of Law'?
a. Dicey
b. Socrates
C. Aristotle
d. Bodin
GBI BT AT Y RN fast fAsRid &1 27
A Sl
. NEN]
9. BRI
T qfed
230. What is protected through rule of law?
a. Liberty
b. Equality
C. Justice

d. All of these

DI BT AT fhdd gRT Axied BT 87
. HdAdl

dq. NHHTAAT

. Y
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T IWRIed |

“The history of hitherto existing society is the history of class struggles” - who
said it?

a. Arendt

b. Gramsci

C. Robert Owen
d. Marx

39 I fagme @t gaal &1 falad sfoemd o dud &1 sfas &— I8
$ad T war?

3. 3RS

q. DG

R I
T A

Which of the following idea of ‘Gandhiji’ is considered as the apex of
Gandhian Socialism?

a. Satyagrah

b. Non-Violence

C. Swarajya

d. Sarvodya

frfaRed & & @9 a1 e & R Iiae Faeae’ & 9y /= S
8?

3. NEIPH

g 3ffEar

N ARy

T qdicd

In which year, Gandhi came back from south Africa?
a. 1915

b. 1916

C. 1917

d. 1918

e fosg a9 <feror smpieT | aroNT *MY 97

3 1915

q 1916

K3l 1917

< 1918

Who said that "There is no god higher than truth'?
a. Tolstoy

b. Finer

C. Gandhi

d. None of above

< Pl fb T A IS BIs 9IdF 81 87
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3. ClREl
q. BTSN
dq e

T SR W DY &
235.  What is name of Gandhiji's authobiography?
a. My experiment with Truth

b. My experiment with Non-violence
C. My experiment with Love
d. None of the above

TSN BT STHBAT BT FT 1 87
A AT D AR W OWANT
g g & AT W uEnT
q. U1 9 WY
T SWRIGd H 9 BIS a8l
236. What is the main teaching of Gandhiji?

a. Religion
b. Truth
C. Violence

d. Spirituality
Tt @1 W e Far 87

A "H
dq. N2
| &
AR (21 7
237. Who is author of the book 'Hind Swaraj'?
a. Gandbhi
b. Tagore
C. Tilak
d. Bhagat Singh
fes WRIST A% QRS & o@d B 8°
S
g TR
¥ fods
T 9d g
238. At which place of Bihar, Gandhi started ‘Satyagrah movement’ for the first
time in India?
a. Gaya
b. Champaran
C. Muzaffarpur
d. Madhubani

fIeR &1 fbd ST WR A S 5 9Rd H GRS A< Y [haT?
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3. T

q. FHROT

9. HOTFHRYR

AN SCE |

Which of the following, according to Gandhi, is an essential principle of
Satyagrah?

a. Infinite Capacity for suffering

b. Non-violence

C. Truth

d. All of these
F=ifhd | A D9 a1 qars & oy sravae g &, TSl & R |

A TQ AE D AT e

g afgar

. g

T Sudad 9

Who was the political guru of Mahatma Gandhi?
a. Tilak

b. Gokhale

C. Dayanand Saraswati

d. All of these
HETAT T S & TSI [ BI 87?

A fads

g g

b S ORIl

T Sudad 9

Which one of following civilization is critised by Gandhiji?
a. Western Civilization

b. Eastern Civilization
C. bothaand b
d.

None of these
fforRaa & 9 19 W Tgar &Y el S b gRT AT & AT 87

3. ISR

g ydl |wgar

W SEiARRT

T T A PIg R

Who adopted 'Satyagrah marg' in Politics?
a. Tagore

b. Arbindo

C. Marx

d. Gandhi

IO § AU BT 9rt, foas soArar?
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. TR

9. oRfam

R o]

AR 111]

When was the book 'Hind Swaraj' published?
a. 1909

b. 1910

C. 1911

d. 1912

feva RIS AMd YD bd THIRId gg ofl?
3 1909

q. 1910

. 1911

Q. 1912

What did Gandbhiji mean by 'Swaraj'?

a. Freedom for the country

b. Freedom for the meanest of the country men.
C. Self-government

d. Complete indepence

TRTST | Y S aar e 97

A W& fog T

9. QU D HAGRGH Jfed & oIy wdar

N LRI

T g e

Why of the following did Gandhiji describes as his two lungs?

a. Ahinsa and peace
b. Ahinsa and truth
C. Truth and Non-violence

d. Brahamcharya and Aparigriha

g 9 fdhT QM1 BT TR S 9 310H IT Bl & ®Y H quid fdhar?
. g iR =t

g, offar IR ¥

9. 99 iR g

T gEEd

Who gave the title of 'Father of the Nation' to Gandhiji?

a. Subhash Chandra Bose

b. Bhagat Singh
C.
d.

Gokhale
Jawahar Lal Nehru

fooae e St &7 refudr @ Surfer €17
3 GIN T 9N
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q. Ta g
g e

Q. uldiexX cllel dgxe

Who is real head in Indian Poltics?

a. President
b. Prime Minister
C. Governor

d. Chief Minister
IRAT ST # aRdfdd TE diF 87?

. rgufa

9. UgEA

. RTSgUT

T gEgHel

What is the goal of Political Party?
a. to attain power

b. to leave power

C. to pressurize government

d. All of these

OIS T 6T FaT ST BT ©°
3. Al B U

g AT BT BIeH]

. TRAR TR I ST

T SENESIRE

Which political party does believe in Marxism?

a. CPI

b. NCP

C. BJP

d. Congress

DI AT ASIIaD T ATadarg § fward @ar 27
. Wrdrers.

g UAEL

9.

Q.

Pick the country where ‘'two-party system' exists?
a. USA

b. India

C. China

d. Russia

feaeii oamer arel <97 BT Jifhd & |

A IMR®T
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q. YRd

9. 9

<. RNl

Which country has adopted ‘multiparty system’?
a. USA

b. China

C. Russia

d. India

P <2 7 IZIAI FIRAT BT AUARIT 57

3. SR®T

CREEE-IC|

N =

<Q. HRT

Which among of following is considered the best form of government?
a. Democracy

b. Dictatorship

C. Maonarchy

d. Oligarchy

frifed § 9 el AR BT Falad sy 74T 17 872
A Amad

q SIIPRINEI

g, Nofad

T polrad

When was Communist Party of India formed?
a. 1925

b. 1926

C. 1927

d 1924

HRFRE UICT 3 SISAT BT TS+ e gaATe
3. 1925

q. 1926

. 1927

Q. 1924

When was ‘Indian National Congress’ formed?
a. 1886

b. 1887

C. 1883

d. 1885

AR TSR BIUF DI RATYAT 69 58S ?

3. 1886

dq. 1887
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9. 1883
Q. 1885
255.  'Who among the following does recognise political party in India?
a. Niti Aayog
b. Legislature
C. Election Commission of India
d. None of these
frfaRad & 9 o9 IMAE T 1 T8I BT 87
. A MmN
g el
| WRAR AT SRINT
T SWREd H 9 PIg A8
256. Which one of the following country has adopted ‘single party system’?

a. China
b. India
C. Britain
d. Canada
frifed § 9 A Thdl Sl SR BT JIUART 87
. AN
q. YRd
a4 faeH
<. DATST
257. What is central point of study of Traditional Political Thought?
a. State and Government
b. Government
C. Nation-state

d. All of these
TRFRITA I IR’ @ 3egdd &7 s fdwg a7 87

3 4

3.
q.
q. R
T SWRIEd a4

258. Which does not come under the scope of political science?
a. Political Party

b. Pressure group

C. government

d. Poetry

oI s @ &9 @ ovavid 9T Jal &7
3. NIHlde g

¥, T99 98

. ANDR
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. pfddr

What is feature of ‘scientific’ study?
a. Systematic

b. Empirical

C. Objective

d. All of these

ISR 3reaae & T favyar 87
3. hHHadg

q. gD

RiAC RS B )

T SWEd |4l

Which among the following is part of Empirical study of politics?
a. Voting behaviour

b Right to vote
C. Right to elect
d None of these

. Y FaER

g, Hda 6l AfRDR
| A de B IAEBR
T Sudad # 9 Pl AR

Which is the central focus of traditional approach?
a. value

b. morality

C. tradition

d. All of these

TRERFTT SUMH fhd IR Bfvad 87

EE

3.
q.
.
T WM W

Who is exponent of Modern Approach to study Political Science?
a. Plato

b Arisotle

C. Cicero

d David Easton
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Which one of following is not part of Traditional approach?
a. Historical studies

b. Legal studies

C. Institutional studies

d. Behavioural studies

fr=faRad & 9 19 A1 WRERFTT SUNTH 6T 91T 81 87

VfeIRie ered

deTe 31T

BRI

ARG eqI

What was the approach to study political science before behaviouralism?
a. Historical

b. Legal

C. Institutional

d. All of these

FAERATE P B B TSl oI IS & U BT SUNTH T AT?

A4 e g

I ufERie

g que

g ATHB

T SWEd |94

When was BJP founded?

a. 1980

b. 1990

C. 1970

d. 1950

‘MR ST UISl’ @ ATIT & g ?
3. 1980

q. 1990

. 1970

<. 1950

Which of these is not a good option for a democratic state?
a. One party system

b. Partyless democracy

C. both (a) and (b)

d. None of these

ATBAI=h T & flU HIF—AT U 3BT fddbed 8] 27
3. Udhel Golld avell

9. QoA wmad

. M e iR

T SWRIad H H BIS T8l

A 'group of people' who contest election for attainment of power is called
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Political Party

Pressure Group

Interest Group

. All of these

AR BT TE' S WA BN DR & ey I Faad Fedl 8, S e

PET 7

o0 o

. XIoEIde &
El EEIEAGE
| f2d agE
T SWRIEd 9
268. Which among the following government cannot exist without party?
a. Demaocracy
b. Military Rule
C. Monarchy
d. Oligarchy
frafaRad # 9 o9 @ WReR o1 <o @ 781 IRa@ # 2wl 27
A AEpad
g Ao e
g, Nofad
T pelad
269. In which state does CPI (M) enjoy strong position?
a. Rajasthan
b. Bihar
C. Uttar Pradesh
d. West Bengal
fépar vTog # e (Ta) @1 Refd Aotgd & 87
3. RSESZIE]
g  f&Er
d. SR UQY
T Ul¥ed e
270. What is the function of Political Party?
a. Representation

b Interest Articulation
C. Mobilization
d

. All of these
SIS & BT BRI T 87
1. yfafea
g  f2d aggiexe
RS E CE|
T SWRIFd a4

271. Which types of organization pressure group are?
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Political organization

Economic organization

Moral organization

d. Organisation of Universal character

919 T (59 YHR BT H69 8°

S AAICE | G R h

g 3® Hired

| Hfde |Ted

T alfie aRkE w1 dTed

Which one of the following is known as pressure group?
a. Trade union

b. Caste group

C. Tribal group

d. All of the above

f=forRad § | 319 <99 998 & w9 H ST Sar 22

o T

. IUR G

g Sflld g

. S e

T SWRIEd 9

Which one of the following is the primary function of ‘Pressure group’?
a. to criticise the government

b. to contest the election

C. to formulate policy

d. to pressurise government

Fe=ifdhd H 9 <919 G BT UgE BRI RIT 50

3. ARBR Dl SMTATAT BT

CANEER-CICACCEI)

| ifaar o1 i e

<. WRAR TR 1T STl

How ‘pressure group’ is district from a ‘political party’?
a. Propogate policy

b. Contest Election
. Criticise government
d. None of the above

RSHIRT & &Y ga1d W I A= 87
3. I TR

q. ERICASEI)

H. DR Dl ATl
T T A P TR
What is FICCI?

a. Political Party
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b. Pressure group
C. Economic Organization
d. both (b) and (c)
oy w7 87?
3. NoMIfdd &
q. ECICESE
. o HTeH
T SMigeRd
276. Whose slogan is this - Workers of the world unite?
a. Idealism
b. Anarchism
C. Realism
d. Marxism
GIFRIT & ASIGRI U &I SIRl'— U8 fhaaT ART 57
K | [ TG 4
q. SRISTh AT
. greide
T  Hg9dg
277. Which structure is considered 'base' in marxism?
a. Economy
b. Legislature
C. University
d. Temple
ATiare H oI A1 AReAT SUR’ 2
G STeI SR
q. faerRrepT
9. eafdere
T AR
278. What is root word of the word 'Politics'?
a. Political
b. Polis
C. Policy
d. Police

qrfefea’ 28 &1 ISART e 7o o8 9 B3 &7

B

279. Which among the following language, the word 'Polis" is derived from?
a. Latin language
b. Greek language
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C. Sanskrit language
d. Hindi language
FeforRaa wrel ¥ 4 fhd 99T 9 ‘Ui’ Wes dI IURT 8 &7

. olfes wmr

q. W HTT

. A¥Rd 91T

g e

Who said "Political Science begins and ends with the state™?
a. Garner

b. R.A. Dhal

c Haraldi Laski

d T.H. Green

frae ®er f <o s o & A1 URWT 3R 31T BT &7
. TR

El JMR. U. 3T

4 eS! AT

< R RIE|

Who is considered the 'father of Political Science?
a. Socrates

b. Plato

C. Avristotle

d. Macheavelli

oI fase @ far a9 A/ S 87
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Who wrote the book 'Politics' which is regarded as the great master piece of
political thought?

a. Gettel

b. Kautilya
C. Plato

d. Avristotle
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Who said that 'man is by nature a political animal'?
a. Socrates
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b. Plato
C. Aristotle
d. None of the above
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What was the nature of Politics before twentieth century?
a. Scientific

b. Empirical

C. Objective

d. Traditional
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What is meaning of Greek word 'Polis'?

a. State village
b. City - state
C. Town-state
d. Nation- state
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Who said that 'Politics is authoritative allocation of values'?
a. Robert Dahl

b. Talcott Parson
C. David Easton
d. Graham Wallace
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Who said that 'Political Science is the master science'?
a. Pythagoras
b. Epicurus
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C. Plato
d. Avristotle
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288. How can politics be defined?
a. The art of government
b. As public affair / activity / process
C. as power and distribution

d. All of these

ST @ fod axe & gRyIid feam S Fodr 27
3. I D HAl B HT H

q. qrdsif~ie qiel /IfafafSr /ufhar & wg #
. fad &R favyoe @ U |

T SWRIEd 9
289. Which among the following place does Aristotle belong?
a. Greece
b. Sparta
C. Athness
d. Macedonia
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290. What is the name of Aristotle's masterpiece?
a. Prince
b. Politics
. Republic
d. Laues
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291.  Which type of activity politics is?
a. Social activity
b. Economic activity

C. Political activity
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d. All of these
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Who said that 'Political Science is not a science but an Art'?
a. Schumpeter

b. Lasswell

C. Garner

d. Maitland
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Which institutions does come under the scope of Political Science?
a. State

b. Government

C. Pressure group

d. All of these
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Which has led towards scientific basis of 'Political Science'?
a. Behaviouralism

b. Traditionalism
C. Post Behaviouralism
d. None of these
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What does Pluralist believe in?
a. Legal sovereignty

b. Political Sovereignty

C. Nominal Souverignty

d Absolute Soverignty
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296. What is the main functions of state according to pluralists?
a. To promote general welfare of its citizen
b. To regulate the activities of various association
C. To regulate production distribution of goods
d. To provide social security
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297. According to Laski, By whom the power of state is limited?

a. Custom
b. Tradition
C. Custom and Tradition
d. None of these
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298. What is at the centre of pluralism?
a. Atomic life
b. Political life
C. Economic life
d. Group life
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299. Whom primacy the monistic concept of sovereignty does uphold?
a. Positive law
b. Customary law
C. Morality and Ethics
d. Community's sense of right
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300. Who among the following stands for decentralization of governmental

authority?

a. Idealism

b. Pluralism
C. Anarchism
d. Socialism
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